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)
(B-:17~20H%)
7 2 18, 839 37,678
MRS V-8 4. 0mf% AB SB HEHIN A% ST (171
)
(152 : 20~5HF)
IRE ] 30 22, 462 673, 860
MRS V-8 4. 0mf% AB SB HEHIN A% ST (171
)
(2 :5~8Ii%)
7 2 18, 839 37,678
RS V-8 4. 0mfk AB SB Vvvv HEHIN Akt
T (20 144EHLH1)
(8- :8~17H)
IRE ] 30 15, 266 457,980
MRS V-8 4. 0mfk AB SB Vvvv HEHIN Akt
T (20 144FH11)
(B :17~20H%)
7 2 15, 127 30, 254
MRS V-8 4. 0mfk AB SB Vvvy HEHN Akt
T (20 144FH11)
(12 : 20~5HF)
IRE ] 30 16, 570 497, 100
MRS V-8 4. 0mfk AB SB Vvvy HEHN Akt
T (20 144E H11)
(2 : 5~8Ii%)
7 2 15, 127 30, 254
RIS V-4 4. 3wk SB Vv HEHIN A% R (3
")
(8- :8~17H)
IRE ] 30 16, 590 497,700
RIS V-4 4. 3wk SB Vv HEHIN A% R (3
")
(B :17~20H%)
7 2 16, 451 32, 902
RIS V-4 4. 3wk SB Vv HEHIN A% R (3
")
(2 : 20~5HF)
IRE ] 30 19,018 570, 540
RIS V-4 4. 3wk SB Vv HEHIN A% R (3
")
(2 : 5~8Ii%)
7 2 16, 451 32, 902
BREE N -4 8tiffe AP
(8- :8~17H)
IRE ] 30 24, 243 7217, 290
FREE N -4 8tiffe AP
(B-:17~20H%)
(5] 2 24,373 48, 746
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THEXSy - TFE - Fpl - M50 MK BRI EAL K & B E A sl (GBS
RN - 8tiffk AP
(1% : 20~51H)
7 30 26, 254 787, 620
FREE N -4 8tiffk AP
(2 :5~8Ii%)
7 2 24, 373 48, 746
BRI - 13t#%
(8- :8~17Hf)
7 30 26, 503 795, 090
RN 13t#%
(&1 17~20F)
7 2 26, 592 53, 184
BRI - 13t#%
(1% : 20~51H)
7 30 29, 488 884, 640
PR - 13t#%
(2 : 5~8Ii%)
7 2 26, 592 53, 184
=) BRE 280PS Hif—b 227y F HEHIN A%t
SO (20 144E L))
(8- :8~17H)
7 30 25, 209 756, 270
=) BRE 280PS Hif—b 227y F HEHIN A%t
SO (20 144E L))
(&1 17~20F)
7 2 24, 940 49, 880
=) BRE 280PS Hif—b 227-y"F HEHIN A%t
SO (20 144E L))
(1% : 20~51H)
7 30 27,418 822, 540
=) BRE 280PS Hif—b 227-y"F HEHIN A%t
SO (20 144E L))
(2 : 5~8Ii%)
7 2 24, 940 49, 880
RS T
= 1 8, 195, 640
AVYVY 4t
(8- :8~17H)
7 50 8, 204 410, 200
AVYVY 4t
(1% : 20~51H)
7 50 8,997 449, 850
AVYVY 10t
(8- :8~17Hf)
(5] 50 12,191 609, 550

[ rxmd A R
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TSy« AR - FER - 51 Mo SO AVANNE Gl G H " THE (RESRM)
VA VY 10t
(£ :20~5HF)
1) 50 12, 987 649, 350
AV 11t i@
(&8~ 17Hf)
1) 30 12, 818 384, 540
AVISE 11t i@
(% : 20~5HH)
] 30 13,734 412, 020
AVISE 21t i@
(&8~ 17Hf)
] 30 16, 600 498, 000
AVISE 21t i@
(2 : 20~5HF)
ik 30 17,376 521,280
R 8tk AP
(B : 8~17H¥F)
ik 10 17, 466 174, 660
REL - 8titk AP
(T8 : 20~5HF)
] 10 18,431 184, 310
L 8tk Ny M
(B : 8~17HF)
] 10 14, 590 145, 900
G 8tk Ny
(4 : 20~5H¥F)
1) 10 15, 555 155, 550
vy R 40PS Hf—p 227" T PR A5
T (3%)
(&8~ 17Hf)
ke 10 10, 360 103, 600
vy R 40PS Hf—p 227" B P A5
T (3%)
(% : 20~5HH)
] 10 11, 694 116, 940
-y 40PS =W 277-y" AL {5 5 BRAERY
PR AR (31R)
(&8~ 17Hf)
] 10 10, 459 104, 590
-y 40PS =W 277-y" AL {5 5 BRAERY
PR AR (31R)
(2 : 20~5HF)
1) 10 12, 948 129, 480
-4 [ 80PS Hf-lv 227-y"
(&8~ 17Hf)
ke 10 11,972 119, 720

ESiR e RN | e LW T




N 2

it

£

TSy - AR - FEB - MBI B BRI EAL K & B E A # (GBS
=) BRE H 80PS Hif—W 27—y
(152 : 20~5HF)
IRE ] 10 13, 336 133, 360
=) BRE H 80PS Hf-iv 227-Y"F (FfiA)
(8- :8~17Hf)
IRE ] 10 30, 304 303, 040
=) R H 80PS Hf-v 227-Y" i (FfiA)
(152 : 20~5HF)
IRE ] 10 31, 668 316, 680
n=}) ERE 100PS Hif=l 27—y HEHIN A%F
A (2%k)
(8- :8~17H)
IRE ] 10 12, 082 120, 820
n=}) BRE 100PS Hif=l 27—y HEHIN™ A%F
A (2%k)
(%20~ 5IK)
IRE ] 10 13, 455 134, 550
n=}) ERE 100PS Hif=l 227-y" 4 HEHIN A%F
S (3%%)
(8- :8~17H)
IRE ] 10 12,311 123,110
n=}) ERE 100PS Hif=l 227-y" 4 HEHIN A%F
S (3%%)
(12 : 20~5HF)
IRE ] 10 13,674 136, 740
=) BRE 280PS Hif—b 227y F HEHIN A%t
S (20145371
(8- :8~17H)
IRE ] 10 25, 209 252, 090
=) BRE 280PS Hif—b 227-y"F HEHIN A%t
S (20144371
(12 : 20~5HF)
IRE ] 10 27, 418 274, 180
INSYE U] 0. 28m3 /n-7%
(8- :8~17H)
IRE ] 10 7,783 77,830
INSYE U] 0. 28m3 /n-7%
(2 : 20~5HF)
IRE ] 10 9,217 92, 170
INSYE V) 0. 28m3 KW
(8- :8~17H)
IRE ] 10 9, 056 90, 560
INSYE V) 0. 28m3 KW
(2 : 20~5HF)
IRE ] 10 9,922 99, 220
INSYE U] 0. 45m3 /n—77%1
(8- :8~17Hf)
IRE ] 10 8,933 89, 330
-8 - Ehzma A AL A R




HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T E (A5
Ny 0. 45m3 7n=77
(% : 20~5HH)
FRE 10 10, 370 103, 700
INEYE ) 0. 45m3 Hf—-H7
(B8~ 1TIRF)
FRE 10 11, 276 112, 760
ISR} 0. 45m3 W7
(% : 20~5HH)
FRE 10 12, 141 121, 410
INETV2V) 0. 6m3 /n—57
(B8~ 1THRF)
FREfH 10 9,733 97, 330
INETV2V) 0. 6m3 /n-57
(% : 20~5HH)
FREfH 10 10, 509 105, 090
INETV2V) 0. 8m3 /n—57
(B8~ 1TIRF)
FREfH 10 11,723 117, 230
INETV2V) 0. 8m3 /n—57
(% : 20~5HH)
FREfH 10 12, 490 124, 900
BB 1L T
= 1 3, 470, 800
T Sl A B A BAER 2.5m3 4x4 B
(B8~ 1TIRF)
FREfH 50 16, 610 830, 500
T Sl A B A BAER 2.5m3 4x4 B
(B 17~20M)
FREfH 50 17,078 853, 900
T Sl A B A BAER 2.5m3 4x4 B
(% : 20~5HH)
FREfH 50 18, 650 932, 500
T Sl A B A BAER 2.5m3 4x4 B
(% : 5~8IHE)
FREfH 50 17,078 853, 900
HIERT T
= 1 5, 084, 160
-4 RS E 40PS Ff—lv 227" PEHAT AR
7 (3%K%)
(B8~ 1TIRF)
FREf 30 10, 360 310, 800
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TSy - AR - FEB - MBI B BRI EAL K & B E A & (GBS
=) BRE H 40PS - 227-Y" AL HEHD A%
T (3%%)
(&1 17~2011F)
IRE ] 2 10, 400 20, 800
=) BRE H 40PS - 227-Y" AL HEHD A%
T (3%%)
(152 : 20~5HF)
IRE ] 30 11, 694 350, 820
=) R H 40PS - 227-Y" AL HEHh A%
T (3%%)
(12 : 5~8Ii%)
IRE ] 2 10, 400 20, 800
-y 40PS =) 227-y" T 1 5 # B
e At SR (1K)
(8- :8~17H)
IRE ] 30 10, 459 313, 770
-y 40PS =) 227-y" T 1 5 # B
e A%t SR (1K)
(&1 17~201F)
IRE ] 2 10, 499 20, 998
iy R 40PS =) 227y T {5 # B
e A%t SR (1K)
(2 : 20~5HF)
IRE ] 30 11,793 353, 790
iy R 40PS =) 227y T 1 5 # B
e A%t SR (1K)
(2 : 5~8Ii%)
IRE ] 2 10, 499 20, 998
=) BRE 80PS Hif—i 27—y M
(8- :8~17H)
IRE ] 30 11,972 359, 160
=) BRE 80PS Hif—W 27—y M
(&1 17~2011F)
IRE ] 2 11, 823 23, 646
=) BRE 80PS Hif—W 27—y M
(12 : 20~5HF)
IRE ] 30 13, 336 400, 080
n=f )R 80PS #f—p 227-v" Al
(2 : 5~8Ii%)
IRE ] 2 11, 823 23, 646
=) BRE H 80PS Hf-lv 227-Y"F (FfiA)
(8- :8~17H)
IRE ] 10 30, 304 303, 040
=) BRE H 80PS Hf-lv 227-Y" i (FfiA)
(&1 17~201F)
IRE ] 10 30, 155 301, 550
=) BRE 80PS Hf-lv 227-Y"F (FfiA)
(12 : 20~5HF)
IRE ] 10 31, 668 316, 680
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TSy - AR - FEB - MBI B BRI EAL K & B E A & (GBS
=) BRE 80PS Hf-lv 227-Y"F (FfiA)
(2 :5~8Ii%)
IRE ] 10 30, 155 301, 550
n=}) BRE 100PS Hif=l 27—y HEHIN A%F
AL (2%%)
(8- :8~17Hf)
IRE ] 30 12, 082 362, 460
n=3) BRE 100PS Hif=l 27—y HEHIN A%F
AL (2%k)
(B :17~20M1%)
IRE ] 2 11,932 23, 864
n=3) BRE 100PS Hif=l 27—y HEHIN A%F
A (2%k)
(2 : 20~5HF)
IRE ] 30 13, 455 403, 650
n=}) BRE 100PS Hif=l 27—y HEHIN™ A%F
A (2%k)
(2 :5~8Ii%)
7 2 11,932 23, 864
n=}) BRE 100PS Hif=l 227-y" 4 HEHIN A%F
S (3%%)
(8- :8~17H)
IRE ] 30 12,311 369, 330
n=}) BRE 100PS Hif=l 227-y" 4 HEHIN A%F
S (3%%)
(B :17~20M1%)
7 2 12,161 24, 322
n=3) BRE 100PS Hif=l 227-y" 4 HEHIN A%F
S (3%%)
(12 : 20~5HF)
IRE ] 30 13,674 410, 220
n=3) BRE 100PS Hif=l 227-y" 4 HEHIN A%F
S (3%%)
(2 : 5~8Ii%)
IRE ] 2 12, 161 24, 322
FHiEKE T
= 1 134, 085
2 1500CC
(8- :8~17H)
IRE ] 5 9,163 45, 815
2 1500CC
(B :17~20M1%)
IRE ] 2 9, 080 18, 160
2 1500CC
(2 : 20~5HF)
7 5 10, 390 51, 950
2 1500CC
(2 :5~8Ii%)
IRE ] 2 9,080 18, 160
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT G| T E (A5

A SR iR
= 1 3, 643, 617

S ity [
= 1 3, 643, 617

A=K —ERk E RPN cwit]
VN 1, 687 867.9 1,464, 147
A=K =R 2= RPN cwit]
VN 1, 687 801. 4 1,351,961
B R R H L SCRE - B4y MU
m 84 3,199 268, 716
o5 AT B AR A A SCRE - B4y MU
m 84 2,952 247, 968
AR R G E
e 4 32, 812 131, 248
AW RS
e 4 19, 476 77,904
TS B A R R
H 1 57,813 57,813
BN A B B R E s

H 1 43, 860 43, 860

% T
= 1 1, 387, 395

RImE T
= 1 1, 387, 395

AR B RIBFHE R BA BB 45\ H
= 1 752, 355
ZRRFE AR B RIFHE A BB B % 45\ H

= 1 635, 040
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT G| T E (A5
8 SR
(RTH-JE43)
= 1 8,401, 310
LR
= 1 7, 744, 820
A=nT =T
= 1 4, 986, 000
F g (8 - B T) FAEERIEET 2770 MEA M (20T) 4
B &2 50mm
m2 2,000 2,493 4, 986, 000
TA7 7 MR & T
= 1 2, 758, 820
1797 5L T47- N0 BskT 277k AR, 2kg
/m
m 1, 000 366. 3 366, 300
INEYZA FAERRIEET 2770 MEA Y (13) il
T &5t/ B
t 40 59, 813 2,392, 520
Pk A iE ) T
= 1 39, 870
LI
= 1 39, 870
5 US3-B400H CoZ
e 10 3, 987 39, 870
% T
= 1 616, 620
RImE T
= 1 616, 620
AR B RIBFHE R BA BB 20\ H
= 1 334, 380
ZRRFE AR B RIFHE A BB B % 20\ H
= 1 282, 240
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
B L
= 1 56, 656, 950
BT TE:
= 1 6,053, 815
B ST ¢
= 1 58,519
Htre m
= 1 58,519
JH [ 9t X R B E AR Y
= 1 58,519
MR R (B L)
= 1 5,995, 296
Wi
= 1 62, 710, 765
BTk X=giiv oy
= 1 31, 707, 195
R 5]
= 1 94, 417, 960
— e
= 1 16, 282, 040
T HAlik
= 1 110, 700, 000
THE B 2 %8
= 1 11, 070, 000
TG
= 1 121, 770, 000
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